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The 1 Magnet Scenario

The momentum reconstruction as
we do today consider one uniform
magnet over an effective length

- [ BdL
P = sin(6,) — sin(6;)

The 2 Magnets Scenario

The method can be described as
follows:

We consider a mid plane between
the 2 magnets where the angle
w.r.t. the beam axis is the biased
by the 2 magnets fields

(1+offset)8, + (1 —offset)b,
Oo=b—"""" %

Calculate the momentum before
and after the midplane

Final Momentum is the average
between the two momenta




(wcmomentum - wemomentum2M)/wemomentum2M {wemomentum2M > 0}
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Reco TOF (module)
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ADC Channel
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